f:=(a,b)->a+b-37;

/I Success
[/ End definina f

(a, b y>a+b-37

evalb(f(a,b)=f(b,a))

E:=solve(f(a,E)=a,E)[0]

s:=solve(f(a,x)=E,x)[0]

f(f(a,b).c); f(a.f(b,c));evalb(f(f(a,b),c)=f(a,f(b,c)))

(a+b-37 +c-37, atb+c-74, 1 )

ordre(k, U :={
| ocal j;
=1,
while(floor(lin((UKk])”ji))!'=1) {
ji=i+15}
return(j);}:;

Ud:=cZeros(x"(10)-1)
-1 exp(Lbl) exp({1LDh) exp((3-)-pi) exp({=3LD-pl) exp({2:0-Dh) exp({(-2)-0)
5 5 5 5 5 5

B ordre(4,Ud)

G oupeFini(n):={
| ocal U, A

U =cZeros(x”(n)-1); . '

A =[seq([seq(UI1*Ujl,1=0..n-1)1,j=0..n-1)7];
return(sinmplify(A) );

o

m GroupeFini(3)




